NOTICE — WHEN GOVERNMENY DRAWINGS. SPECIFICATIONS. OR
OTHER DATA ARE USED FOR ANY PURPOSE OTHER THAN IN CONNEC-
TION WITH A DEFIMTELY RELATED GOVERNMENT PROCUREMENT OPER-
| ATION. THE UNITED STATES GOVERNMENT THNERESY INCURS NO
! RESPONSIBILITY NOR ANY OBLIGATION WHATSOEVER: AND THE FACY
THAT THE GOYERNMENT MAY HAYE FORMULATED. FURNISHED. OR IN

“THiS DOCUMENT HAS BEEM PURCHASED
BY THE GOVERNMENT AND MAY BE REPRO-
DUCED AND USED IN CONMNECTION WITH
§ ANY GOVERNMENT PROCURIMENT OR MAIN-
TENANCE OPERATION.™

ANY WAY SUPPLIED THE SAID DRAWINGS. SPECIFICATIONS OR OTHER r —

DATA IS NOT TO BE REGARDED BY IMPLICATION OR OTHERWISE AS IN
ANY MANNER LICENSING THE HOLDER OR ANY OTHER PERSON CR COR-
| PORATION. OR CONVEYING ANY RIGHTS OR PERMISSION TO MANUFAC.
TURE. USE. OR SELL ANY PATENTED INVENTION THAT MAY IN ANY
| WAY BE RELATED THERETO.

—

NOTES ¢

0.
\\.
\2.

\3.

\ 4.

15'

\G.
\7.

\8.
\9.
290.
N,
22.
3.

A%

25.

6.
7.

28.

29.

30.

-1F

PART MAY BE SUPPLIED BY OAK MFG. CO., CHICAGO, \WLINO\S OR EQUA\L.

NS 1.D. X \87 O.D. X .03\ THK PHENOLIC LTS-E-\ PER MIL=P-79, TYPE PEM. SHALL BE FLUNGUS
RESISTANT OR TREATED WITH FUNGUS RESISTANT MATL PER MIL-V=-\73, TXPE \.

7/1@ 0.D. X 3/16 1.D. MATL ™1 INDIA MICA. THICKNESS OF WASHER AVERAGCE WATH
VAR\ATION .007 TO .02S.

PART MAYX RE SUPPLIED BY CENTRAL SCREW CO., CR\CAGO,\\L.\NO\S OR. EQVAM .
A2S 1.D. X B2 0.D. X .027 THK . FINISH ! E 300 PER M\L-F~-\&OT72 .

A47 1.D. X .32 0.D. X .0BAL THRK . FINISH : E 300 PER WML~ F=-\&4O0T72 .

NO. 8 LARGE. 172 1.D. X .437 0.D. X .036 TRK. FINISW - E 300 PER ML -F-\&074.
L2032 1.D. X .S00 0.D. X .060 THK. FIN\SKH : £300 PER M\L-F-\4 074 .

PART MAY BE 1/4 HEX. x 3/32 THK . DOUBLE CHAMFER , AS SUPPLIED BY PHEOLL MFG&. CO.,
CHICAGO, ILLINOIS OR EQUAL . FINISW : E 300 PER ML -F-\14072.

I/4 REX. X 3/32 THK , DOUBLE CHAMFER . FINISH: E 300 PER MIL-F-\4072 .
3/\6 HEX. X 1/16 THK, DOUBLE CHAMFER . FINISH : £ 300 PER ML =-F=-\4Q072 .

PART MAN BE SUPPLIED BY PHEOCLL MFEG. CO., CHICAGO, ILLINOIS (PHILLIPS - CROSS -
RECESSED) OR EQUAL .

3-48 NC - 2A % |/4\ G., BRASS, PAN HEAD N ACCORDANCE WITH BUREAU OF STANDARDS
HANDBOOK W2S.

PART MAN BE NO. 1220-02 INT. LOCK FOR. 3/8 SCREW, 410 STEE\L, .377/.391 1.D. x .507/493
O.D. X .022 THK. . AS SUPPLIED BY SHAKEPROOF INC., CHICAGO, ILLINOIS OR EQULAN..

LIQUID STAKE SCREWS (76, 66,70,72,73,75,92) WITH VARNISH (69) #7526, SUPPLIED BY
GENERAL ELECTR\C CORP., SCHENECTADY, NEW YORX OR EQLAN.

6 FLUTE , 8-36 NF - 2B X 3/16 .G, FINISH * M362 A PER SPEC. MIL-F-\4O072 .

SOLDER TERMINALS (33) TO BE PLACED NEAREST TOP OF CRASS\S ON BOTW S\DES
OF SH\ELD AS SHWOWMN .

LUBRICATE SHAFT BUSHING (21) WITH LUBRICANT (20) PER SPEC. MIL-\L-7870C.

SOLDER. CENTER PIN OF TUBE SOCKET (53) TO SWELD (4) .

INSTALL SWAITCH SHAFT WITH ALL ROTOR NOTCHRES N LWINE .

REMOVE END PLANX WITH WASWERS (3) .

ALL RETAINER RINGS TO BE ASSEMELED WITH BURR SIDE AWAN FROM BEARING SURFACE.

DIMENSIONS SHOWN ON THIS DRAWING DEFINE L\WMITS FOR INTERCHANGE AB\W\IN

GAG\NG AND ARE TO BE USED AS A BAS\S FOR ACCEPTING OR REVECTI\ON OF TWHE
COMPLETE ASSEWNMBX .

ALL SOFT SOLLDER PER SPEC. MIL-5=- 66872 UVS\\NG ROS\WN CORE SOLLER PER SPRC.

IN ALL SPLIT BALLOONS, TOP FIGURE 1S MATERIAL LIST \TEM \NDICATOR,, AND
BOTTOM FIGURE \S QUANT\TY.

PART MAY BE SUPPLIED BY CENTRAL SCREW CO., CRI\CAGO, \LL . OR EQUVA\. .

COAT WITH VARNISH (88) PER SPEC. MIL-V-173 , TYPE | . MARKINGS SHALL MEET THE
REQUIREMENTS OF SPEC. ML~ M-1323\ .,

FINISH © P213 PER SPEC. MIL-F-14072 . FINAL PAINT FILM #4110 GLOSS ENAMEL PER
SPEC. FED. STD #595 TO MEET THE APPLICABLE REQUIREMENTS OF SPEC. M\.~-F-
14072 . PAINT THE ENTIRE HEAD (EXCLUDING UNDERSIDE) .

ASSEMEBLY SHALL BE WIRED ACCORDING TO WIRWNG ASSY. SM-E- 2490\4 TO PROVID®E
C\RCUIT AS SHOWN ON SCHEMATI\C DI\A. SM-U=-249\90.

FINISH & M352 PER SPEC. MIL-F-14072 . SCREW SHALL BE GAGED W\TW A CLASS 2
BASIC .GC R\ING AFTER PLAT\NG .

PART MAY BE SUPPLIED BY SHAKEPROOF DIVISION OF ILLIMOYS TOOW WORKS, ELGWW,
ILL, PT. NO. 1504-00 OR 2QUAL.

NOTE:

DATA MARKED BY AN ASTERISK (%) ARE FOR

INFORMATION ONLY, CONTRACTOR MAY, AT — e Loss | soewen
HIS OPTION, DEVIATE FROM THESE DETAILS
A lo [SMD-5058%%-17] WASHER EXT C'SINK ¥4 Y
% | |MSZALAB-C\ |SCREW,.FHM 4-400C2A% /6 | FF-S-92 |
[92] 1 |MS352\6-11 | SCREW [FF-9-92 | \S_
o\ AR —— — | SO\DER,, SOFY -
90 | | | SM-B-343627 | CAPACITOR, VAR\ABLE _
89| 3 | MS35216-43 | SCREW 3 FF-S-92 | 28]
88 [AJR VARNISH 1 27
7] | |SM-D-5058%3-16/STUD, 6-32 NC-2A % 3/4\6.CRES BEX
4 |SM-B-283228-2 | CAPAC\TOR. * 1
1
SM-B-203268 | SUPPORT- CAPAC\TOR. | ‘
— T ——— — e 4
MS3IS200 -\ | SCREW, FHM FF-5-92 _
MS 35338~ 80 | WASHER,, LOK | FF-\w-84 | | 20| | |M516628-25 | RING ~RETAINER ‘ 22
79 | \0 | MSSE338-79 | WASHER, LK FF-W-84 39 | 2 |SM-B-283167 | NUT —LOCKING |
78 | 71 | MS35338-78 | WASHER,LOCK FF-W-84 | | 38| | [SM-B-283163 | BOLT - SPADE l B
77 | 3 [ MS3ITANG-23 | SCREW, PHM — | FF-S-92 | Eﬂ Z | SM-D-505 833~ | [ WASHER, LOCK,, SPLAT-*3, CRES
76 | 2 | MS352\6-\& | SCREW, PHM FF-5-92 | \S | 36| Z | SM-B-249271 | TERMINAL, INSULATED N
75 | 4 | MS3SA\G-\4 | SCREW  PHM FF-S-92 | \S 35 | 21 | SM-B-249265 | TERMINAL, INSULATED mn
(74 | 26 | MS352\6-13 | SCREW,PHM FF-S-92 34| 4 | SM-B-249257 | TERMINAL, SOLDER L
73 [ 27 |MS352\@ - \Z | SCREW, PHUM FF-5-92 | \S (3321 | SM-B-249251 | TERMINAL, SOLDER \7
72| & | MS35200-\S | SCREW, FHUM FE-5-92 | IS 32| | | SM-D-249239 | TRANSFORMER, \.F. ~ —
o |MS35200-13 | SCREW FF-S-9% 31 | 2 | SM-D-249238 | TRANSFORMER, \.F. | ]
70| 2 | MS35200-\ | SCREW. FHM | FF-S5-92 30| | | SM-D-249237 | CO\. ASSY.
&9 |AJR| ——————— [VARNISW BWVE ) B 29 | 2 | SM-B- 249233 | SECTION ,ROTARNY SWITCH | ]
[68] 4 [SM-D-5052%3-\S| WASHER. . _ 28 | | [ SM-C-249232 | SECTION,ROTARY SWITCH .
&7 SWM-D-5058%% -\4| SCREMW _ 27 | V| SM-B-249227 |DETENT,ROTARY SWITCH 2\
66 MS3IS2\G -\9 | SCREW, 4-40 NC-2A FF-5-92 26 | 4 | SW-B-249226-2| SPACER, TUBVUL AR
6S SM-D- 12| SCREWN, OVAL ,PT. SET, STEEL | ASAB\33 25 | 6 | SWM-B-249226-1] SPACER, TUBLLAR _
€4 MS 250827 |NUT,FLAT, 3/8-32 NEF - 28 24| 2 | SM-B-24-9219 | INDUCTOR, R.F., TOROID
&3 SM-D-5058%%-10 |NUT, 4-40 NC=-28,CRES | ag | 23| | | SM-B-249199 |BRACKET, CAPACITOR q
G2 | 9 |SWM-D-505853-9 | NUT, 6-32 NC-28, CRES 4110 22| | | SM-B-249196 |COUPLING, SRAFT
G\ |57 | SM-D-6058%2%-8 [NUT, 4-40 NC-28,CRES | 9 21 | | | SM-B-249194 |BUSWHING W/NUT \8
6G | | |SM-D-5058%3-7 [WASHER FLAT, NO.\O, CRES 449 20 |AJR] — [ \UBR\CANT \8
59 | | | SMD-505835-6 | WASHER,, FLAT, NO. 8, CRES | EXXi (139 } | |SM-C-249012 | COVER, FILTER r
58| 3 | SM-D-5058%% -5 | WASHER, FLAT, NO. 6§, CRES 443 8 | | [SM-C-5058%2% | CHASS\S ASSY.-\.F.
ST | 7 | SM-D-EOSB3% -4 | WASHER, FLAT, NO. 4, CRES | lztsl 7 | | |SM-B-249008 | SHAF T, SWITCH T 20 |
5G| 4 | SWM-D-5058%5 -3 WASHER, FLAT i 1183 | \e [ | |SM-B-24900G | BRACKET ASSY. L N
55 [ 18 |SM-D-5058%%-2 | WASHER ROUND,FLAT 8942 | 142 S | 2 |SM-B-249005 | POST -\.F. B
54| 4 | TS\IO3PO\ SOCKET [M\-5-1288 ] 4 | | | SM-B-249004. [ BOARD ASSX., \.F. _
53| 6 | TS\OZPO\ SOCWET MIL-S-12883[ \9 13 [ | [SM-B-249001\ ] BOARD ASSY,)\.F. e
52| | | RW30G4ARS RES\STOR ~ Imm-a-a.a 1Z | | | SM-B-248998 | SHAFT, B.F.O. ]
s\ ] | [ sM-B-283226 | CAPALCVTOR -F\XED L[ | |SM-C-248996 | BRACKET, !.F. ]
50| | | SWM-B-283228-\| CAPAC\TOR -VARI\ABLE | I 0| | |SM-B-505829 | SHIELD -\.F. )
49 | | |SM-D-248863 | FILTER ~MECH. 79 | | |[oM-B-5058%1 | SHIELD - \.F.
SWM-D-248862 | FILTER — MECW. 8 | | [oM-B-5058%0 | SHIELD -1.F.
SWV-D-24880\ | FILTER - MECW. . 4‘ 7 | |aM-E-2490\4 | WI\RING ASSY. Yy
46 SM-D-248860] FILTER - MECH . _t S | | |SM-C-343625 | 7CU-3 TUNING UNIY
45 RVZLAXSAIO\S | RESISTOR — VARNABLE | MWL-R-94 | | S | 1 | Sv-B-248828| POST_ TAPPED
(44 RV2L AXSANO3B | RESISTOR - VAR\ABLE | MIL-R-94 4 | 2 [SM-B~248827| SHIELD, TUBRE \9
43 SM-B-283\78 | CONNECTOR. - RECEPT. | 3| 4“ SM-B-248823| WASHER
42| 3 | SWM-B-283\75 | SPRING~ S\EENE 2 | 1 | SM-D-249234] TRANSFORMER,, \.F.
SM-B-283\73 | RING-RETANER 22 1 | | | SM-B-178433 | COUPLER
% Q) PART NO. DESCR\PTION ) SPEC\FICATIO \TEW/] reao | PART NO, DESCRIPTION . SPECIFICATION _ INOTE]
LIST OF MATERIAL
] - l_ UNLESS OTHERWISE SPECIFIED  —PEELHTOHOooror i DEPARTMENT OF THE ARMY
R — DIMENSIONS ARE IN INCHES
= —te — TOLERANCES ON U. S. ARMY SIGNAL MATERIEL
o - FRACTIONS peciias e MECR ANICAN SUFPORTRIERES
[ |ORAWN P.G\A\MO [V 02 FORT MONMOUTH _ NEW JERSEY |

REVISIONS

NEXT ASSY
APPLICATION

APPROVED 3

FC-2'AM¥

WHEN REFERRING TO THIS DRAWING STATE DRAWING NO., APPLICABLE ISSUE SYMBOL, |

SM-D-5058%%

copt 80063 |SHT. 1 01-"'%
F ANY, AND DATE.



NOTICE — WHEN GOVERNMEINT DRAWINGS. SPECIFICATIONS. OR
OTHER DATA ARE USED FOR ANY PURPOSE OTHER THAN iN CONNEC-
TION WITH A DEFINITELY RELATED GOVERMMENT PROCUREMENT OFER-
ATION. THE UMITED STATES GOVERWMENT THEREBY INCURS NO

E RESPONSIBILITY NOR ANY OBLIGATION WHATSOEVER: AND THE FACT

E THAT THE GOVERNMENT MAY HAVE FORMULATED. FURNISHED. OR IN
i ANY WAY SUPPLIED THE SAID DRAWINGS. SPECIFICATIONS OR OTHER
i DATA IS NOT TO BE REGARDED BY IMPLICATION OR OTHERWISE AS IN

ANY MANNER LICENSING THE HOLDER OR ANY OTHER PERSON OR COR- {

PORATION. OR CONVEYING ANY RIGHTS OR PERMISSION TO MANUFAC-
TURE. USE. OR SELL ANY PATENTED INVENTION THAT MAY IN ANY
WwAY BE RELATED THERETO.

“THIS DOCUMENT HAS BEEN PURCHASED

BY THE GOYERNMENT ANT MAY BE REPRO-

DUCED AND USED IN CONNECTION WITH

ANY GOVERNMENT PROCUREMENT OR MAIN-

TENANCE OPERATION."

| =

% STAMP OR DECAL DESCRIPTION , ORDER NO,,
PART NO. § SERIAL NO. ON TH\S S\DE OF THE
CHASSIS IN THIS AREA (SEE WOTE 27).

SEE NOTE \S

1

NOTE:
DATA MARKED BY AN ASTERISK (%) ARE FOR
INFORMATION ONLY, CONTRACTOR MAY, AT
HIS OPTION, DEVIATE FROM THESE DETAILS.

SEE NOTE \7
(S 502)
SEE NOTE \S

NHING) SEE NOTE \S

SEE NOTE \S
ASSEWMRBLE AS SHOWN

SEE NOTE \S

REVISIONS

SYM 1 " DESCRIPTION

LDATE APPROVAL

—

SPECIFICATION 1

REQD PART N’ DESCRIPTION
LIST OF MATERIAL

| U_Ir'l'LESE OTHERWISE SPECIFIED _WF‘
) B . DIMENSIONS ARE IN INCHES £ORPORAHON—
- - TOLERANCES ON |
FRACTIONS nec_am AE‘S LJ'(.: Ef:%ii‘.&_l_ CME CR AN C AN
- B ORANNR B, GIAWAO [ewes ZC_2 ASOSY . — \.F.
TWM-C-BA502) 5C-D-248775| CRECOKED DMOHILID |APPROVED ( M
e Soon | ENG. £e-z( _ ; _
' APPLICATION APPRAVED AE2/&@/ 67 SEALE 4 1y

’ DEPARTMENT OF THE ARMY
1

U. S. ARMY SIGNAL MATERIEL
SUPPORT AGENCY

FORT MONMOUTH  NEW JERSEY

F

SM-D-5058%%

cooe 80063 |SHT.ZOF %

WHEN REFERRING TO THIS DRAWING STATE DRAW!NG NO., APPLICABLE ISSUE SYMBOL, IF ANY, AND DATE.



NOTICE — WHEN GOVERNMENT DRAWINGS. SPECIFICATIONS. OR | “THIS DOCUMENT HAS BEEN PURCHASED NOTE:
OTMER DATA ARK USED FOR ANY PURPOSE OTHER THAN IN COUNEC- | BY THE GOVERNMENT AND RAY BE RIPRO.

: . REVISIONS
| 13ON WITH A DEFINITELY RELATED GOVERRKENT PROCUREMENT OPER- | DIUCED ARD USED IN COMNECTION WITH DATA MARKED BY AM ASTERISK (%) ARE FOR —

| sYM | DESCRIPTION APPROVAL
ATION. THE UMITED STATES GOVERWMENT TWEREDY INCURS ¥O | ANY GOVERNMENT PROCUREMENTOR MAIN- INFORMATION ONLY, CONTRACTOR MAY, AT
B TERANLIT Mat RAYE FORMULATED, FURNISHED. O W | T HIS OPTION, DEVIATE FROM THESE DETAILS | |
ANY WAY SUPPLIED THE SANM DRAWINGS. SPECIFICATIONS OR OTHER
DATA IS NOT TO BL REGARDED BY INPLICATION O OTHERWISK AS IN
ANY MANNER LICENSING THE HOLDER OR ANY OTHER PERASON OR CON-
PORATION. OR CONVEYING ANY RISNTS OR PIRMISEON TO BANUFAL-
TURL USE. OR SELL AKY PATENTED INVENTION THAT MAY [N ANY
WAY BI RELATED THIRETO.
2) (a4
s - E
& o % X -3
73\ c% /TN A\ /78 Za -+  =— FMAX. OVER STLD
\2/ \Z \l/ \2/ L \2 \2 /
) 78\ @A (73 6\ (18 (35 (18
\Z / Y, L/ 2/ . \{/ 2/ \U/ \Z/ SECTION A -A
\,\_/ ./ W/ \U/ \Z/ g 1/ zi'i \.\ / g
34 79 73\ :
\ @ \\/ e o \ 4/ @ ./ W U
2 Qﬁq
SEE NOTE 2\ ~L.o% =
‘ 249 D\A.. (REF)
248
W
o~ ;
9| ¥ ! D
# 9. O 0
i o “
« 1 0
< + N |
0
»f | e l 250 D\A.. (REF)
250 MIN. \.D. i_ m 248
3 ausumes\ —1 (os0n) * > \@;
o_ |
m 4
| @mm— | %1 | 1
&x%@ﬂ';ﬂi } I 2
W \JVAZALAZAZZ/
090
+ i
r_
K
L5 &1 T (73
@ @ ‘Iﬂ! @ 0 \\/ g \}_/
18\ (T4 ks &i) 18
28\ [T3\ (81 16\ N 35\
) &/ &/ \%/ \Z./ 1/ U
as\ [&3 £
\!/ &/ \\1/
63\
\Z/
| | ] e[ oeown ] serowon |
T .0\ l LIST OF MATERIAL -
e \W\.00O — - ~ | | umess OTRERWISE SPECIFIED  —JLLe FRONIC-RSSTSTANCE ) DEPARTMENT OF THE ARMY
= DIMENSIONS ARE IN INCHES ~GORPORAGN-
TOLERANCES ON mamem mnas ve e U. S. ARMY SIGNAL MATERIEL
= FRACTIONS DECIMALS Anaies [N -Cﬂ;:l:?;(,e) ME CHANIC AN SUPFORT AGENCY
TOP VIEW . DRAWNR P. G\AIMO[fEwED o o | ASSN. — \. F . FORT MONMOUTH  NEW JERSEY

MCSABOAI  |SC-DL-248775] CHECKED ToMSHIN [Froveo
e e Teng. ] £ce(m? SM-D-5058%3
APPLICATION APPROVED N 2/\0/e7 M /0 coot 80063 |SHT, BOF %

WHEN REFERRING TO THIS DRAWING STATE DRAWING NO., APPLICABLE ISSUE SYMBOL, IF ANY, AND DATE.



